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Instructions : (1)

Qareratayb. SEsLLFHedd Gapuimulen, Smps samarafliurerfl o
o Langunas Clsfleflssab.

fooin s@ag snly owvlea LLECL dYWHUSHEW
Si460smqPugpEd vwaudss CasmBb. ULBSH uarusH®
Cuendley LweTuBSF6yWD.

Check the question paper for fairness of printing. If there is any lack of fairness,
inform the Hall Supervisor immediately.

(2) Use Blue or Black ink to write and underline and pencil to draw diagrams.
UGS - I/PART -1
@iy : () Simemsg earssEnsEd o wellsaa. 20x1=20

i) Qar@asuu’@drer muenE wrpn eleLsalld Naaybd gFhHymLw

dloLowus Csirds@ins GAELHLa darlaayn Csisg
T(PSHELD.

Note: (i) Answer all the questions.

(i) Choose the most appropriate answer from the given four alternatives and write the
option code and the corresponding answer.
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1,

LGt wHmb Ll eufl eremug
(1) wHuy sl L UuCL aul Curenpg
(<2p) uaear e

(®) emupeen e, D6 eilameraysardmg)
(F) <iPs® damarasmarns Qaram_g)
Goods and Services tax is

(@) like value added tax

(b) a multi point tax

(c) a single point tax with no cascading effects
(d) having cascading effect

-y =mx—x) aang GNEGLD.

) Lnrr;ﬂeﬁlmu'_? (=) smleney

(8) uamenGam_en () CrirCarien
(y—y) =m(x-x,) gives the :

(a) Constant (b) Slope

() Curve (d) Straight line

ahs aues smsmyuld CumyCu Gyrg ?

() Qo whpflew (=) feopeyls Gumiy
(8) faGort whmfenwo () whmfew

In which market form, does absence of competition prevail ?

(a) Duopoly (b) Perfect competition
(c) Oligopoly (d) Monopoly

Qurés wrpré Gsewsy 1,000, Guorgs wrmib Gewey 200 erafid Qursss Qsaeneud
se158 (.

(1) 500 (<2y,) 800 (@) 20,000 () 1,200
If total fixed cost (TFC) is 1,000 and total variable cost (TVC) is 200, then find the total cost :
(@) 500 (b) 800 (c) 20,000 (d) 1,200



:

apppificmuid MR Gan(y Gt vy ey Baflaenin,

(o) AR (.o9p) TR (@) AC (1) MC
In Monopoly, MR curve lies below - curves

(a) AR (b) TR (¢) AC (d) MC

om Pnaiamsdan v aral®, QoG a@asbe G _Gu o_dar Gudurer Qgriienu

sOHUG e seipsalu®dng.

(<) Gafiliny amiy (<) BiGTeYy sy

(@) @ sniy (/) 2-pusH smiy

The functional relationship between “inputs” and “outputs” is called as

(@) Savings function (b) Consumption function

(¢) Investment function (d) Production function

‘CGunell aunpid’ arey &EHSH) o et Qgm_jent wg.

(1) aungsi (&) RéamiGLr (@) wriagd (F) &Eanev

The concept of ‘Quasi Rent’ is associated with :

(a) Walker (b) Ricardo () Marshall (d) Keynes

SLLE@W eranugD@ WTHDNS aeangd Jewly 2015 -1b &
geraifl 1 -4 BreT gHUBSSUILLLS).

(@) 6106 6@ () fi8 Guné
(8) wallg e-few amammutd (") Hds @

The Planning Commission has been replaced by the on 1% January 2015.
(a) Law Commission (b) NITI Aayog
() Human Rights Commission (d) Finance Commission
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9. fanLana agnafl QacasGanp San() creah élmwj,muufaﬂlﬂfﬁ.
(<) 2 pusH (-24,) Gpemaud,
(Q) eipuemen () f
Long-run average cost curve is also called as curve.
(@)  production (b) demand
(¢) sales (d) planning

10. @pédfean Lwaur® sPuwnrs PEssn Curg CwTssU uwenur®
Peooou SoLdns.

(=4) & flwwnren () GEpeurer
(B) erdmwerpwren (%) o.E50TEN
When marginal utility reaches zero, the total utility will be :
(a) Zero (b) Minimum

(c) Negative (d) Maximum

11. MUDRA aid) Qeweou@ssiu L QameLs sarfls.
(<31) 2010 (<34,) 2000 (@) 2015 () 2005

Identify the year of launch of MUDRA Bank :
(a) 2010 (b) 2000 {c) 2015 (d) 2005

12, uggmd pigram®s HLL ST :
() 2007 -2012  (&)1992-1997 (@) 1997 -2002 (W) 2002 - 2007

Tenth Five Year Plan period was :

(a) 2007-2012 (b)) 1992-1997 () 1997-2002  (d) 2002 - 2007




13,

14.

15.

16.

3 7647

apig i Ganemwnilat oimailas opg Lo il aipmistufin g6

() SISO dned (+33) Quiigenas sna)
(Q) Gmod 8add (1F) o_amening el
Wages that are paid on the basis of quantum of work done is
(@) Thove wapes (b)  Nominal wapes
(©)  Time wages (d)  Real wages

Al e pusHudd sBPRTE QEHu Derella Benowuller o enengy.

() e (<) Qperpmd (®) @uemLno () mremsmd
In India’s total cement production, Tamil Nadu ranks :
(@) first (b)  third (c) second (d) fourth

upprEGepU Aurmertsry Qassensder < AAwi wri ?
(=) QomQanay (=) 2 aviflg (@) prum’een (FF) wrTasd

Who has given scarcity definition of economics ?

(@) Robbins (b) Adam Smith (c) Robertson (d) Marshall
Qurmsd e Csis

(1) Beu yrlé (i) erewQemi edl3gisser

(2 wepser Yrié (i) @more

(3) smoud yrld (iii) dem

4) @ergrfleuliyl yrld  (iv) egRiser
() ()-(iii), (2)-(1), B)-(iv), (4)-{ii)
(<) (1)-(ii), (2)-(iv), B)-G), (4)-(ii)
(@) (1)-(iv), (2)-(iii), (3)-(ii), (4)-(3)

(FF) (1)-(ii). (2)-(3), (3)-(iv). (4)-(ii)
Match the following :

(1)  Blue Revolution (i) Oil seeds
(2) Yellow Revolution (i) Shrimp
(3) Grey Revolution (iii) Fish

(4) Pink Revolution (iv) Fertilizers

(@)  (1)-(iii), (2)-G) B)-(iv), (4)-Gi)
(®)  (M-Gii), 2)-(iv). @), (4)-Gi)
(@ ()-iv), )i, (3)-(i). (4)-()
) (0)-Gi), @)-6), B)-{iv), (4)-(ii)
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17.

18‘

19.

20.

o , . © Qaren Quipp ~mem®
Qurmeanngnpgidpanar Curd idlana opuoigEum o (leat GlLIDID -2

(<st) 2008 (+9},) TUOR (l@) 2010 (fr) 2000

Amartya Kumar Sen received the Nobel Prize in Economics in the yeat :

(a} 2008 (h) 1008 (©) 2010 (d) 2000

2 wfld awgiaunal Qumarngiyhiamers: QararL. prH&er afenaulier @nHureien
Qui
(=) she (@) prare (@) ubs (") 7@

The position of Indian Economy among the other strongest economies in the world is :

(a) Fifth (b) Fourth (c) Tenth (d) Seventh

syrefl e DuSH (AP) -eows serrédll LweaTuBL GSHTD
(1) TP/MP (=) ATP/N (@) TP/N () ATP/AN
Formula for calculating AP is :

(a) TP/MP (b) ATP/N © TP/N (d) ATP/AN

"wellg@ioLy aurpsosuiidn sapr. plegsassmary UHH Qurmelud
2L TMUEng" erenmy dadlweur ;

(B1) Qe el OMiTRGED (<) L1 el

(8) anpCeuchsan (r) @Qawend ymQene

“Economics is a study of mankind in the ordinary business of life” - 1t is the statement of ;.
(a) Alfred Marshall (b) Adam Smith

() Samuelson (d}) Lionel Robbins



v

U@ - 11/ PART - 11

@0y : aemauGuend gy Nanss@ie el weldaaub. er erar 30 6@
si_Lmnuwns oo walssab. Tx2=14

Note : Answer any seven questions, Question No. 30 is Compulsory.

21. 2 pusds smaismer umalLOSSHIS:
Classify the factors of production.

22. uélirey erémpmey erenen 7
What is meant by distribution ?

23. Qurgs wrble eaTpri® 2 pusd (GSDP) — LS.
Define Gross State Domestic Product (GSDP).

24. @bl Qurmerrgrysdlen Ceayd G Qudllaans saps.
State any one feature of Indian Economy.

25. LPG Gararengenné QeuduBsss sryemid ererat ?
State the reasons for implementing LPG.

26, OQeauefluuerLwreans Qeoeyser erenpre erena ?
What is meant by Explicit Cost ?

27.  weailg Gubur (& GRS CL e (HDI) whpd eumpéenss sré @il Querr (PQLI)
2 fAluaneny Ceumu®szs.
What is the difference between HDI and PQLI ?

28, eblpUumEmeT udsULBESH T(WEs.
Write the classifications of Wants.

29. memeflue Qurpefluene auenmup&EsayD.
Define Micro-economics.

30.  Guriui9en siqtiueLld HmENEOL UMELURDSES.
Classify the market on the basis of Competition.

[ Hmiys / Turn over
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U@ - 111/ PART - 11

" . . ¥ - - ; -é
GHiy : stemeuCigy)id S elenda@niw oo weflsaan. flenr eremr 40 (2‘3:21
SLL.MULIS el wiafldma .

Note : Answer any seven questions. Question No. 40 is Compulsory.

31, fewL sras Qaaay cuamarCan_ en G686 aepuLggen efleuflssa.

Explain the Long-run cost curves with suitable diagram.

]
ra

Uy wHHIL GCured euryb - Camu®sgis.
Distinguish between Rent and Quasi-rent.

33. &grw FiCaurgwur LHH fm eHluy eres.
Write a short note on Village Sarvodhaya.

34. SHG -wlen uamyseaens GHGHs.
Mention the features of SHG.

35.  vwerurCgen wadu Qudyser wreney ?
What are the important features of Utility ?

36. Besder ApLQweayser wreva ?
What are the characteristics of Land ?

37. swGprég uamarGar@saflar uamyssT wrevay 7
What are the properties of Indifference curve ?

38. eflpuenar Qeeey erenmre areen ? IS THSHESTLHL6N oflend .
Explain the meaning of Selling Cost with an example.

39. sl prige saflo aerisear LPH GHLY erss.
Write a note on mineral resources in Tamil Nadu.

40. Qmws womfiend eremmmed eremen ?
What is Bilateral Monopoly ?




;

u@d - IV / PART - 1V

GO : Smenss cflenmaasena@n ofeiweisaab. 7%5=35
Note : Answer all the questions.
41. (=) flaGanrt wonflewea usmyseomer efleré@s.

42.

43.

Vg
() epdu stes Qewas Carheoas sEhs LLEELa alauflésayb.

(@) Describe the features of Oligopoly.
OR

(b)  Discuss the Short-run cost curves with suitable diagram.

(&) awefls euridlaer Fri@LewWUrsEslulLgpaTen sTraTLEmars GG
SV

() 2015-2020 v gpSgdsTar gopwd. @péGwds OQardesen
Spuludusenet ellarées.

(a) Explain the objectives of nationalization of Commercial banks.

OR
(b) Describe the salient features of EXIM policy (2015 - 2020).

(1) Aur@eaiiuald ugssriey wHgw AsrEssmiey weopsada Ly smar
elend 5.

SV
(=) oy 965 elearey eflflen euenTULSgLen efleTé@s.
(a) Explain various steps of Deductive and Inductive method in Economics.

OR
(b) Explain the Law of Variable Proportions with the diagram.
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44.

45.

46.

(=) Cpodan Apdlpsdlenw eTaliBd WDPSHET Wirena ?
DIN6F

(<) sLen Bl alys CarlurieL dlarées.

(2) What are the methods of measuring Elasticity of Demand ?

OR

(b) Elucidate the Loanable Funds theory of Interest.

(@) 9. . HDCUGsHT SjauisEpmLw WEHW QurmearTsTrs &(HSF & T

edleréGs.
TN
(=) AeriGLrallen qurys Gam_ur e srsgssm _BLrer eaufissa.
(a) Explain the main economic ideas of B.R. Ambedkar.

OR

(b) Ilustrate the Ricardian Theory of Rent.

(D) LATEE SLAHEHESTEN STTRRBSEET BTTILIS.

S0
(=) 30 priggietar uaGeg eswLrer LHHH aertismer efleufsseyLb.
(a) Analyse the causes for Rural Indebtedness.

OR

(b) Explain the various sources of energy in Tamil Nadu.



47.

1

(=) () sefly peopdlda Qurmenrgryl uwearur@sdr gCaaud apendlenen
TPHS.
(i) eaps eSi(Beusd fesgsanen arpamiisaiie gCaayb Qramg e sps.
LIV
() Sy eiflewd vwau@sh arGasuul Perer CriGam s sweLn®-
sEHEGS Sirey snems.
7X)=Xy—X3=0
10x, —2x2+1-3 =8
6x) +3xy~ 2x,=7
(@) () Write any three uses of Mathematical Methods in Economics.
(i) State any two causes for housing problems in rural areas.
- OR
(®) Solve the following linear equations by using Cramer’s rule.
7X1=xy—23=0 |
10x; - 2xy +x,=8
6x; +3x,-2x,=7



